A £ 0l & AF & S

0248 =4 3 3 LEtalH ZHMO0IH X%

Al A

SA BRI 2
M NS MEESH(AHY - SAILLMEK/MHEE - DS}

Cel: AHIAES (St &)
SN - HE - S9I(E) - MIRAY - BAS of & )| B o HIDS2
ZMI0i L X 2t 19,088,792 17,475,960 1,612,832

= 1,370,8%4 688,480 682,414
N 1,070,000 1,070,000 0
2l 35,500 35,500 0
= 1,000,000 0 1,000,000
=S 373,632 374,112 1480
= 15,238,766 15,307,868 269,102
NAZMESsH Y - SAILLUMHX/MHEE - DES}) 3,711,072 3,731,654 N20,582
= 5,180 5,180 0
N 1,070,000 1,070,000 0
=S 118,934 119,414 2480
o 2,516,958 2,537,060 120,102
AHIXES 25,561 32,751 AT,190
= 5,180 5,180 0
< 3,634 3,534 0
= 16,847 24,037 27,190
Srorg e 2,120 5,620 23,500
201 Zet=d] 2,120 4,620 22,500
01 Al2teldl 2,000 4,500 2,500
O=Jtetd &t & AEH M&
34 0 0 2,500 2,500
301 LRENS 1,000 A 1,000
1 AREIXES 1,000 21,000
O=SIttd 2 24583 g4 24
38 03 0 1,000 21,000
Sotetd el (el2t]) 4,153 9,843 15,690
101 2IAH| 4,153 9,843 15,690
M JIZtHIZ22 RS2 4,153 9,843 25,690
O=Jt ZAIQE 212H] 4,153 9,843 25,690
—Jlzs
48 69,020 28«22 x 1202 3,313 8.283 24,970
—A2l28&s 48 70,0003 12002 840 1,560 AT
EHetAga 2435 2,000 0 2,000
201 2Bt ] 2,000 0 2,000
01 AFR2telHl 2,000 0 2,000
Oxetr=ga Xa
1,000, 0002 24 2 2,000 0 2,000
NSEH 243t =X 3,685,511 3,698,903 N 13,392
N 1,070,000 1,070,000 0
< 115,400 115,880 2480
i 2,500, 111 2,513,023 A12,912
NSFHgdst =X 26,688 27,720 A1,032
201 Let=E] 3,688 4,720 21,032




SA: ZHOoIE X 2
M NSZHELSH(AY - SAILLUU X /AHTE - DES})

Selr XNSZM 2483 =8 (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
02 33234l 688 1,720 21,032
Os:Es RS
ZE 430240001 A +43] 688 1,720 21,032
E = SINL- 116,100 99,000 17,100
201 LBH2 ] 100 3,000 22,900
01 AF22t2ltl 100 3,000 A2,900
OAarZ0l XM 22 M
Z& 100,000 100 3,000 22,900
307 212t01 & 80,000 60,000 20,000
0B OIXEEZ 80,000 60,000 20,000
OL4301 OIXEA XA 80,000 60,000 20,000
—24301 BX2 0IXMEA(24EH2)
Z3& 40,000,000 40,000 30,000 10,000
—2430 813 0IXNEX("2BHE)
& & 30,000,000 30,000 20,000 10,000
=== ZH 29 292,400 315,900 A23,500
201 L2 110,700 117,700 A7,000
03 #Ar2 I 60,000 67,000 27,000
Os2=s= ZH 3¢ 29 & Se(HE, =X
s) A& 1,000,0002 553 55,000 62,000 27,000
301 LeENZ 153,400 167,400 14,000
11 SEAAHIXIRS 146,000 160,000 A 14,000
Os&= 3y 3¢ 146,000 160,000 A14,000
-39 2 & 2,000,000& %553 110,000 124,000 A 14,000
307 gIztold 5,000 7,500 A2,500
12 QIZHRIRIE =Y 5,000 7,500 A2,500
OS2 &d &0 u=s ¢ 2488 S 5,000 7,500 22,500
—u=s 33 03 0 2,500 A2,500
s SHaA 245 43,631 46,631 23,000
201 LBH2 ] 12,800 15,800 23,000
01 At22teltl 12,800 15,800 A3,000
OF4d &l 2A4E 28 0 0 3,000 23,000
dSANEEHS =4 128,640 130,640 22,000
207 AR 18,000 20,000 A2,000
01 A= 18,000 20,000 A2,000
ONEAIE L AEHIL AILSEUSIAIY A+
g9 &2 18,000,000 %13l 18,000 20,000 22,000
HEANZ STHEH 28 X (EX) 3,040 4,000 A9060
== 1,520 2,000 A480
= 1,520 2,000 2480
307 el2+old 3,040 4,000 2960
= 1,520 2,000 A480
= 1,520 2,000 A480




SN [GIIE P}
D AGBHEESH( A - SAIHLAE X

D ASEN gdst =d (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
06 2E=2 3,040 4,000 2960
OUSAE FUSHES X3 (EX)
Z& 3,040,000 3,040 4,000 2960
= 1,520 2,000 A480
= 1,520 2,000 2480
QJ%S 2 T2 (A - SAIIL LUK/ ALK 15,020,986 13,384,371 1,636,615
= 1,365,714 683,300 682,414
J| 35,500 35,500 0
= 1,000,000 0 1,000,000
== 254,698 254,698 0
[ia 12,365,074 12,410,873 A5, 79
HiuX R =2 7,521,902 6,295,957 1,225,945
= 1,365,714 683,300 682,414
2l 35,500 35,500 0
S 254,698 254,698 0
s 5,865,990 5,322,459 543,531
X Hot g8 =& 0 1,200 21,200
201 =3 0 1,200 21,200
01 AtR2telb] 0 1,200 A1,200
OlUXIZe 222 M& 0 1,200 21,200
—g% S 8ESS 243 0™ 0 1,200 21,200
Hg 2 AR =X 0 1,200 21,200
201 LB2 ] 0 1,200 21,200
01 AFR2t2ltl 0 1,200 21,200
O4% & AR =X 222 M 0 1,200 21,200
—d2 S EE2=3 38 0¥ 0 1,200 21,200
HHL(SH2)LPGHI Y A=A 1,228,345 0 1,228,345
= 682,414 0 682,414
s 545,931 0 545,931
403 AXIEHMSAH=0l 1,228,345 0 1,228,345
= 682,414 0 682,414
s 545,931 0 545,931
02 2712S0 e H=H 2 S AL 1,228,345 0 1,228,345
O2024F HHL(S2) LPGHHZZ FEAH(
438 HYAl, A1)
1,228,345,000& 1,228,345 0 1,228,345
= 682,414 0 682,414
= 545,931 0 545,931
N&EI = 5,083,384 4,472,714 610,670
= 1,000,000 0 1,000,000
[ias 4,083,384 4,472,714 A389,330
A T Al 2SXA 3,844,254 4,245,584 A401,330
201 L2 499,254 399,254 100,000




SA: ZHOoIE X 2
M UK otd L B35 WA (MY - SAIS LU /NI KL XHRIOHE)

=@t ENED B2 (EEEE))
SA - B BR(S) - HRAY - BAS o vy ol H o HImS2
01 AtR2telbl 409,504 309,504 100,000
Ot &2 215 +2ld]
Z& 10,000,000 500 A *43] 200,000 100,000 100,000
301 LEIEEZ 0 1,330 21,330
11 #HAIAHIXIRS 0 1,330 21,330
O2ERA s HFASH
Z2E 03 0 1,330 21,330
401 AIEHIL20HY 640,000 1,140,000 /500,000
01 Al&HI 640,000 1,140,000 A500,000
OEMZEEA 2/ c|Z28d SA
33 03 0 500,000 500,000
SN TOHEE Al 2 X2 (21248]) 239,130 227,130 12,000
101 2124d| 239,130 227,130 12,000
04 JIZtNZ22 NS+ 239,130 227,130 12,000
OouggEA 2222 (20Y) 234,000 222,000 12,000
—AMIEEZ
Z3 19,500,000 1200 & 234,000 222,000 12,000
SAEEA 29 2|2PE SA 1,000,000 0 1,000,000
£ 1,000,000 0 1,000,000
401 AIEHIZL 20 1,000,000 0 1,000,000
£ 1,000,000 0 1,000,000
01 Al&HI 1,000,000 0 1,000,000
OZNEEA Y 2|22 SAHLEH)
500,000, 000 *20H £ 1,000,000 0 1,000,000
£ 1,000,000 0 1,000,000
sHE JI2S 2l 2,394,100 2,594,100 £200,000
2SS WA =2l ¥ 2] 2,394,100 2,594,100 £200,000
401 AlEBIYL LY 543,800 743,800 £200,000
01 Al&HI 543,800 743,800 200,000
OsHEIIZE FAI22 425,000 625,000 200,000
—SHEINZS ML (THEY)
Z& 50,000,000& 50,000 150,000 100,000
—gie2iel =42 g E2Y Ji2s &
XIS A Z3& 50,000,000 50,000 150,000 100,000
;j)XH MOUIHRN (A - SAI S LU X/ 0l L KT KHOH 5,500 25,500 £20,000
ofatESs LR O 5,500 25,500 A20,000
YA 2| & 2 5,500 25,500 A20,000
207 AN 0 20,000 A20,000
01 g E | 0 20,000 »20,000
Otz &S HE EHH|
34 03 0 20,000 A20,000
SHE2IAHI(ZMOIHXID) (DIEH/DIIE 104,577 108,515 N3,938
JlI=23Hl 46,826 50,764 A3,93




2A:

ZHIOA X 2

T AHLSAZUI(IMOUILXID) (OIEHIIEH
&elr D=3l EER=E)
A -3 - AA(3H) - MRAY - BE= 04| AkeH Jl & o Hns2
JI=2AH(FRONL X 15,424 16,444 1,020
202 04| 0 1,020 21,020
01 2LH0iH 0 1,020 21,020
OXE AHl28t&d M =& bl
I3 02 0 1,020 21,020
JI2ZHI(KISZHE) 7,149 8,787 A1,638
202 04| 4,077 5,715 1,638
01 2LH0d 4,077 5,715 A1,638
OXNGENE SRF& 2L &=&0 I
A 20,0002 4% *92 +12J0 2 *30% 2,59 3,240 1648
OXGZHE JLFT 22| EHOH|
A 110,000 x3H *3 +53| «30% 1,485 2,475 2990
J2dul(SRA2ZX) 160 1,440 A 1,280
202 04| 160 1,440 A1,280
01 2U0dy 160 1,440 21,280
OBRA 22X U SF0i|
A 20,0002 %1 #4 2 x40 2 *50% 160 1,440 21,280
MNEES(EHAHAEHX M) (LESSHEY/NE - 28) 23,087 2,350 20,737
[=PSINES 23,087 2,350 20,737
BAEXS 23,087 2,350 20,737
802 Btat2D|Ef 23,087 2,350 20,737
01 2DNEXIota=2 17,688 238 17,450
O'23d UEAFHIA XAE(LF) &t
Teo datz 1,0002 1 0 1
OB LHEAZHY XJANL(2F) Y
ZroH 0| X} BHEIZ 2,8802 3 0 3
O'28d LALAFHIA XA (BH2) T
Trow oist=za 2,078,3302 2,079 0 2,079
O'23d YEAFHIA X2AH(8te]) &t
ZHoH 0| X} BHEHS 2,080 3 0 3
O'283 HEIAYL 245} XBAY T3
ZHoH 0| X} BHEIZ 3,4602 4 0 4
O 214 PG AEMEHT BSAIY S HEH
OIX} Brar2 352,020 353 0 353
O'208 2P| LPGHHZZ =AY & sHAtoH
OIX} prata 14,804,500 14,805 0 14,805
O 238 XNSAIZAZH LHRRA ZIHE
o Btz 1,150 2 0 2
O'234 [PGEI| AFZI7 AIAIAALS ZIEH
oM 0| X} BHEZ 199,380 200 0 200
02 Al - SHIEZ2EHE2 5,39 2,112 3,287
O'23 MTHMHUKIEZS FEHXAE &3l
ZhoH otEtza 631,0002 631 0 631
O'22E ATHMUUXI2S FHX A He
ZHoH 0| X} BHEZ 48,8002 49 0 49




2A:

ZHIOA X 2t

Mo PSS (ZMOULKID) (LHDRHE/HE - 28
&el: 28XE EER=E)
SN - BE - SA(B) - NIRAY - BES 0 &t N E o HIRE2
023 ATHAOIH X 23 =X/ Z 3
Xroh Ehat3 69,0002 69 69
O'23 ATHAOIH X 2D ZE XA Z3
T O|X} EHEHD 48081 49 49
OB =512 A B3 N2 T3
Zboh 0| X} BHEIR 2,430 3 3
023 KGAIZAZR LTI DT
o 0K} EHEH2 1,116,760 1,117 1,117
020 REHS| LPGHIRIY DEAIY & s Rro
OIXF erera 1,368, 180 1,369 1,369




